Statistics 31, Section 3, Homework # 7

Due:  Thursday, October 12, 2000

4.13,    4.15b,    4.23,    4.25

4.27

Rework, using the “not” rule:    4.23b,    4.25c,e

4.75

4.85,  ignore “Venn diagram”, as intermediate steps, find:


(a,i)
P{Coffee and not Tea and Cola}    (0.20)


(a,ii)
P{Coffee and Tea and not Cola}    (0.10)


(a,iii)
P{Tea and not Cola}    (0.15)


(a,iv)
P{Tea and Cola}    (0.10)


(a,v)
P{not Coffee and Tea and Cola}    (0.05)


(a,vi)
P{not Coffee and not Tea and Cola}    (0.15)


(b,i)
P{Coffee or Tea}    (0.65)


(b,ii)
P{(Coffee or Tea) or(not Coffee and not Tea and Cola)}    (0.80)


(b,iii)
P{Coffee or Tea or Cola}    (0.80)


(b,iv)
P{not (Coffee or Tea or Cola)}    (0.20)

4.21,    4.22  (0.65,  0.38,  0.62)

4.81,    4.83,    4.87
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